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Some university students decide to participate in internships. By doing so, students can have specific
information about companies they are interested in and build helpful relationships with other students.

4 | However, students may find it difficult to understand the job and perform well in their studies.
| agree with this opinion. First, visitors can enjoy sightseeing more comfortably. With the limitations,
famous sites could be less crowded, and visitors could enjoy famous sites without having to wait in
long lines. Second, limiting the number of visitors would help improve the daily lives of people living
5 near tourist sites. When fewer visitors come to these sites, people living nearby can reduce the
number of problems, such as garbage and noise caused by these visitors. Therefore, | think that
famous tourist sites should limit the number of visitors.
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